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 𝑓(𝑥) =
3

𝑥
𝑔(𝑥) = √𝑥 − 4.

 
𝑓(𝑥+ℎ)−𝑓(𝑥)

ℎ
ℎ ≠ 0

 (𝑓 ∘ 𝑓)(𝑥)

 𝑔 (𝑓 (
1

12
)).

 𝑓(𝑥) = (𝑥 − 1)2, 𝑥 ≥ 1

 𝑓(𝑥)

 𝑓(𝑥) 𝑓−1(𝑥)

 𝑓−1(𝑥) 𝑥

 

𝑅(𝑥) = −
1

2
𝑥2 + 2𝑥

 

 𝑥 −  𝑦 −
 

 

 𝑥

 3𝑒7𝑥 = 14
 log3(𝑥 − 8) + log3 𝑥 = 2

 9
(

2

log2(𝑥)
)

= 3

 𝑃(𝑥) = 𝑥3 − 3𝑥2.
a) Factor the polynomial and use the factored form to find all the zeros. 

b) Describe the end behavior of the polynomial function. 

c) Use a calculator to find the coordinates of all the local extrema.  

d) Sketch the graph of the polynomial function. Label 𝑥-  𝑦  

 

 

 tan (sin−1 (
√3

2
))

 sec (
5𝜋

6
)

 cos
𝜋

6
cos

𝜋

12
− sin

𝜋

6
sin

𝜋

12

 log5 5 + log5 20 − log5 4



 

 𝑓(𝑥) = 2 − √𝑥 + 4

 𝑔(𝑥) =
1

3
sin(2𝑥) [0,2𝜋]

 ℎ(𝑥) = 1 − ln(𝑥)

 𝑘(𝑥) =
1

𝑥+3
− 1

 
cos 𝑥

1+sin 𝑥
+

1+sin 𝑥

cos 𝑥
= 2 sec 𝑥

 

 2 cos2 𝜃 − 1 = 0 𝜃 [0, 2𝜋).


